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!�$ �%����%�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &

!�$�$ '���	�������� (	���	�� � � � � � � � � � � � � � � � � � � � � � � � � � � )

!�$�! *�
��+,�� -�� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � )

!�$�. - �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #

!�! *�� �	���+/+0�	��+(�������
� � � � � � � � � � � � � � � � � � � � � � � � � � � $"

!�. �������
�� (��
�	�� 
�� ��	
������1
���� � � � � � � � � � � � � � � � � � � � $!

!�2 .�.3�&�&3+	�	�
+	��	+��	��+- �� � � � � � � � � � � � � � � � � � � � � � � � � � � $/

� �������������� ���
���� ��

.�$ 45''6( � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � $)

.�$�$ 45''6(+(���	�� �	�� � � � � � � � � � � � � � � � � � � � � � � � � � $#

.�$�! �7������ �������8������  �	 ��� 9���1
��� � � � � � � � � � � � � � !"

�����+(	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !"

(	�:�	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !!

.�$�. �����+����� �������8������ � � � � � � � � � � � � � � � � � � � � � � � !!

.�$�2 ;�
���<%������ ��� (��8������� ���� � � � � � � � � � � � � � � � � � !/

.�! (��8�����������	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !/

.�!�$ .�.3�&�&3+	�	�
+	��	+��	��+- �� � � � � � � � � � � � � � � � � � � � � � � !)

.�!�! *�� �	���+/+0�	��+(�������
� � � � � � � � � � � � � � � � � � � � � � � !#

.�. *��� ����� ������	��������	�������� � � � � � � � � � � � � � � � � � � � � � � ."

.�2 ��=$$$>+9���1
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .!
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2�$ �4?+(��	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ./

2�! �������
�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .@

2�. ��������
�
�
	��� ��� ��=$$$>+9���1
��� � � � � � � � � � � � � � � � � � � .@

2�.�$ ��
�
�
	��� ��� �����A�������	�� � � � � � � � � � � � � � � � � � � � � .#

2�.�! 6���	B������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .#

2�2 ����
� � ����� 45''6(+(���	�� � � � � � � � � � � � � � � � � � � � � � � � .#

2�& 6
������	�
����� ��� 9���1
��� � � � � � � � � � � � � � � � � � � � � � � � � .#

� ��	������� ���  ��������� ��

&�$ .�.3�&�&3+	�	�
+	��	+��	��+- �� � � � � � � � � � � � � � � � � � � � � � � � � � � 2!

&�$�$ *��� ����� ������	��������	�������� � � � � � � � � � � � � � � � � � 2!

&�$�! ������	������� �	��� � � � � � � � � � � � � � � � � � � � � � � � � � � 2&

&�$�. *��� ����� ��	����������� � � � � � � � � � � � � � � � � � � � � � � � 2&

&�$�2 ���	�����%���	�� ��
���A����
�� � � � � � � � � � � � � � � � � � � � � 2#

$ �����
�� *�- 
�� ��=$$$> � � � � � � � � � � � � � � � � � � � � � � 2#

"�& �6 *�- 
�� ��=$$$> � � � � � � � � � � � � � � � � � � � � � � � � � &$

&�$�& ���������� ��� '��������� � � � � � � � � � � � � � � � � � � � � � � � � &.

&�! (�������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &&

&�!�$ *��� ����� ������	��������	�������� � � � � � � � � � � � � � � � � � &&

&�!�! ������	������� �	��� � � � � � � � � � � � � � � � � � � � � � � � � � � &)

&�!�. *��� ����� ��	����������� � � � � � � � � � � � � � � � � � � � � � � � /$

&�!�2 ���	�����%���	�� ��
���A����
�� 
�������� ��� ��
�� � � � � � � � /2

&�!�& ���	�����%���	�� ��
���A����
�� 
�������� ��� ��
�� � � � � � � � //

&�!�/ ���������� ��� '��������� � � � � � � � � � � � � � � � � � � � � � � � � /@

! "�������������	 ��� �������� ��

#��������$��%���
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$�$ (��� 
	����� �
��	������ ��� 5�����8����� ��� 5�	
C
� � � � � � � � � � � !

$�! 45''6(+(���	�� ��� *�� 
�� ��=$$$> � � � � � � � � � � � � � � � � � � � .

!�$ (��� 
	����� �
��	������ ��� �%����%�� ��� - �� � � � � � � � � � � � � � � &

!�! (��� 
	����� �
��	������ ��� �%����%�� � � � � � � � � � � � � � � � � � � � � /

!�. ;���+(�
 9���	
�� ��� �%����%�� � 	�
��+D��	
�� � � � � � � � � � � � � )

!�2 (��� 
	����� �
��	������ ��� -�� ����������� ���
��� �� � � � � � � � � � � @

!�& ��	��	�
���
��
  �A� ��� -�� ���������� � � � � � � � � � � � � � � � � � � � @

!�/ ��	��	�
���
��
  �A� ��� -�� ���������� � � � � � � � � � � � � � � � � � � � #

!�) (��� 
	����� �
��	������ ��� - �� � � � � � � � � � � � � � � � � � � � � � � � #

!�@ - �� � 	�
��+D��	
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � $"

!�# (��� 
	����� �
��	������ ��� (�������
� � � � � � � � � � � � � � � � � � � � $$

!�$" -�� ���������� ��� (�������
� � � � � � � � � � � � � � � � � � � � � � � � � � � $!

!�$$ (*�+����
� � ��� �%����%��+�����
	�� 
�� ��=$$$> � � � � � � � � � � � � $.

!�$! 45''6(+(���	�� ��� *�� 
�� ��=$$$> � � � � � � � � � � � � � � � � � � � $2

!�$. (*�+����
� � ��� %8�� *�� ���+-�� ���� 
�� ��=$$$> � � � � � � � � � � � $2

!�$2 !��'+(���	��� ��� *�� 
�� ��=$$$> � � � � � � � � � � � � � � � � � � � � � $&

!�$& ��������B��������		 ��� ��� 	�
��+%�+���+-�� ���������� ��� *�� 
�� ��=$$$> $&

!�$/ ��������� ���
��� �� ��� ���	���� ���������� �A� *�� 
�� ��=$$$> � � � $/

!�$) (��� 
	����� �
��	������ ��� *�- � � � � � � � � � � � � � � � � � � � � � � � $/

.�$ '�������������� ��� 4
��	
��������� � 45''6(+(���	�� � � � � � � � � $@

.�! ��		���� ����� ����
��� ��� '���	����� � ���	�7���� � � � � � � � � � � � � $@
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.�. 45''6(+(���	�� ��� ,9 
�� ,�=$""> � � � � � � � � � � � � � � � � � � � � $#

.�2 (��� 
	������ ����
� ����� 45''6(+(���	�� �	��� � � � � � � � � � � � � � !"

.�& 5����	�������� ����� � ��	 
�� �����  �	
�������� 9���1
��� � � � � � � � � !$

.�/ (��� 
	����� �
��	������ ��� ������
��� ��� �E+������
��� F�� �	��� � � � !$

.�) '���	������	������ 
� ��� 9���1
��� � � � � � � � � � � � � � � � � � � � � � !.

.�@ -�	����	
	����	������ ��������	���	�� '���	����� � � � � � � � � � � � � � � � � !/

.�# (��� 
	����� �
��	������ 
����8
��	�� �����A�+(��8������� ���� � � � � !)

.�$" *��� ����� ������	��������	��� ����	��� ���	�� ��� %8��	�� 9������ � � � � .$

.�$$ (*� ����
� � ����� ��=$$$>+9���1
��� � � � � � � � � � � � � � � � � � � � ..

.�$! 4����������+(	���	�� ��� ��=$$$>+9���1
��� � � � � � � � � � � � � � � � � � ..

2�$ (��� 
	����� �
��	������ ��� ��
�
�
	�����
  �� � � � � � � � � � � � � � � ./

2�! (��� 
	����� �
��	������ ��� �����
  �� � � � � � � � � � � � � � � � � � � � .)

2�. ��������� ��� '���	�����������	����	�� �	��� � � � � � � � � � � � � � � � � .)

2�2 ��������� ��� �������
�	��� � � � � � � � � � � � � � � � � � � � � � � � � � � .@

2�& ��������� ��� (	�
�����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � 2"

&�$ 5F�+(���	���G *�- � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2!

&�! *��� ����� ������	��������	���G *�- � � � � � � � � � � � � � � � � � � � � � 2.

&�. (�����
��� ��� �E+������
��� 45''6(+(���	�� ��� "�& ��� $ �6 *�-

�� ��=$$$> � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 22

&�2 (�����
��� 45''6(+(���	�� ��� $ �6 *�- 
�� ��=$$$> �
�� ���%� 
4��%�� 
�� ������������ *� ���
	���� � � � � � � � � � � � � � � � � � � � � � 2/

&�& (�����
��� 45''6(+(���	�� ��� "�& �6 *�- 
�� ��=$$$> �
�� ���%� 
4��%�� 
�� ������������ *� ���
	���� � � � � � � � � � � � � � � � � � � � � � 2)

&�/ 45''6(+(���	�� ��� $ �%8� "�& �6 *�- 
�� ��=$$$> �
�� 4��%�� 
��
2)2 ; � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2@

&�) (�����
��� 45''6(+(���	�� ��� "�) ��� $ �6 *�- 
�� ��=$$$>  �	
��	�������������� ������	����	� ���
	���� � � � � � � � � � � � � � � � � � � 2#

&�@ 45''6(+(���	�� ��� $ �6 *�- 
�� ��=$$$> �
�� 6
�����������  �	
.&& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &"

&�# 45''6(+(���	�� ��� "�# �6 *�- 
�� ��=$$$> �
�� 6
�����������  �	
2"& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &"
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&�$" 45''6(+(���	�� ��� "�& �6 *�- 
�� ��=$$$> �
�� 6
�����������  �	
.&& � ��� 22& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &$

&�$$ 5��
	��� -�	����	
	 ��� �
���� ��� �A� "�& �6 *�- 
�� ��=$$$> �
�� 6
+
�����������  �	 .&& � ��� 22& � � � � � � � � � � � � � � � � � � � � � � � &$

&�$! 45''6(+(���	�� ��� "�& �6 *�- 
�� ��=$$$> �
�� 6
�����������  �	
2"& � ��� 4��%�� 
�� .)2 ; � � � � � � � � � � � � � � � � � � � � � � � � � � &!

&�$. 5��
	��� -�	����	
	 ��� �
���� ��� �A� "�& �6 *�- 
�� ��=$$$> �
�� 6
+
�����������  �	 2"& � ��� 4��%�� 
�� .)2 ; � � � � � � � � � � � � � � � � � &.

&�$2 (��� 
	������ '��������
��
  �A� *�- 
�� ��=$$$> � � � � � � � � � � � � � &2

&�$& 5F�+(���	���G (�������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � &&

&�$/ *��� ����� ������	��������	���G (�������
� � � � � � � � � � � � � � � � � � &/

&�$) 45''6(+(���	�� ����� (�� ����
�� (�������
� 
�� ��=$$$> �
�� 4��%��

�� )"" ; � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &/

&�$@ (*� ����
� � ��� ����� (�� ����
�� (�������
� 
�� ��=$$$> � � � � � � � &)

&�$# (�����
��� ��� �E+������
��� 45''6(+(���	�� ��� "�2 �6 (�������
�

�� ��=$$$> � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &@
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Ψk =
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1
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|
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a1 = a2 = a =.�$@>

a1|| = a2|| = a|| =.�$#>

a1⊥ = −a2⊥ = a⊥ =.�!">

a3 = a4 = b =.�!$>

a3|| = a4|| = b|| =.�!!>

a3⊥ = −a4⊥ = b⊥ =.�!.>
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D�� ���	�  ��� ��� F�� �	��� ��� ����������� �7���� ��� (	�������8�������� ν(C−Ph)
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� −1 (��8������
275d) τ =,,>� ��
299d) τ =,,>� ��� δ=,0>
352d) δas=,,.>� 	+��	��
403d) τ=,,>� ��
451d) δ=,,.>� 	+��	��
543d) δ =,,> ��� τ =,,>� ��
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	���op

696d) τ =,,>� ��
750a) 5�������
	���op

765b) δop =��>
766b) δ =,+��>
879d) τ =,,>� ��
879b) δ =0+��>
921d) δop=,4>���� δ =,,>���
972a) δop =,4>� - ��
975b) δop=,4>� - ��
1008d) ν =,,>���
1170b) ν =,+��>
1189d) ν =0+��>
1190f) ν =0+��>
1193e) ν =0+��>
1199b) ν =0+��>
1233e) ν =,+��>
1240f) ν =,+��>
1316b) 5�������
	���
1331b) 5�������
	���
1359d) δ =4,4>=,4.>
1366b) δ =,4>� - ��
1370a) δ =,4>� - ��
1453d) δas =4,4>�,4.� ν =,,>���
1568c) ν =,,>� ���%����������
1570c) ν =,,>� ����������
1584c) ν =,,>� ����������
1597c) ν =,,>� ���%����������
1635b) ν =,S0>
1638c) ν =,S0>
1627e) ν =,S0>
1630f) ν =,S0>
2879d) νs=,4>�,4.
2906c) ν =,4>
2951d) νas =,4>�,4.
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!/# τ
b)
butt

τ(CC)b)� δ(C − H)b)

..& τ(CC)b)

.#! 5�������
	���a)�
ν(CN)a)

2./ δop(CCC)a)

22! τ(CC)b)� δ(C − H)b)

&"/ τ(CC)b)� δ(CH)b)

&.! δ(NO2)a)

/2@ δ(CC)b)

)2@ 5�������
	���
=���%��>f)

)&) δop(CH)d)

@!" δ(CC)b)� δ(CH)b)

@&! δ(NO2)a)

@&# ν(CO)b)� ν(CC)b)

@)& τ(CC)b)� δop(CH)b)

#!2 ν(CH)g)

#.@ τ(CC)b)� δop(CH)b)

δ(CH)b)

#2/ ν(CC)b)� δ(CC)b)

δ(CH)b)

#&2 ν(OCN)c)

$"!$ δop(CH)a)

$".) δ(CCN)d)

$"@# δ(HCC)d)

$"#" δop
s (CH)f)

$$"@ ν(CO)b)� ν(CC)b)� δ(CC)b)

$$$@ ν(CC)b)� ν(CO)b)
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